DISTRIBUTION OF MARKS
CLASS - 3rd
SUBJECT - MATH

MODEL TEST PAPER
CLASS - 3rd
SUBJECT - MATH

Time : 3 hours M.M. : 50
Text Book
Sr. No. | Particulars/Topics Marks
1. Short and questions 10
2. Simple questions on Add, 6
Subtraction, Multiplication
and Division
3. |Fillup 5
4. Match the following 5
5. Choose the right option 4
6. Complete the pattern 4
7. Puzzle 2
8. |Solve the questions 10
9. Shapes 4
Total 50

Time : 3 hours M.M. : 50
1. 1 &1 & -
1. e AW faar:-
769 = oo,
2. @i H foa@n:-
FH TS = oo
3. 300+7C +4=[]
4. Y Q@RI
200, 190, 180, wcveve) woverey weee

5. 9x| ]=63

6. wm[%]%&hm: .............. Pt

7. 6+6+6+6+6=[_]

8. 65+13=[ |

9. 95— |=65

10. 2 WX = ... Hex 10
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Answer the following:-
1. Write in words.
769 =i
2. Write in figures:-
Nine Hundred Fifty Nine = []
3. 300+7C.+4=["]
4. Complete the pattern:-
200, 190, 180, ........... U ) eeereeeens
5. 9x[]=63
6. Half %] kilogram =........... gram
7. 6+6+6+6+6=[_]
8. 65+13=[_]
9. 95-[]=65
10. 2metre=........... centimeter.
2. gA®RU: (Solve it) :-
(i) 869 (i) 689
+789 50
- +6
(iii) 609 (iv) 369
—278 -189
(v) 365x25 (vi) 765+6

1. THTGH o, g g

2. sfaH faefifae g B |
3. e H TG Bl © |

4. fegeRam ¥ ... A gl
5. e, ¥ 366 FRATIAE |

Fill in the blanks:-

1. Thereare.........

...daysin ayear.

2. Slitreshave............ millilitres.
3. Atriangle has............ sides
4. The month of Decemberhas ............
5. has 366 days in a year.
. T =a:-
1. Ts fax 589
2. TH A 7 fe
3. HWR 100 T
4. w9 12 I
5. Oie Y Fart 1000 frefferet
Match the following:-
1. Litre 589
2. Dozen 7 days
3. Week 100 paisa
4. Rupee 12 Things
5. Five Hundred 1000 millilitres
Eighty Nine
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5. @W@:—

1.

4
T e § o g §
(%) 12 (@) 24
(M) 36 (7)) 18
2 feretrm & 7w g1 ¥ 1
(%) 2000 7™ (@) 1000 U™
(7)) 3000 7H (") 200 7™
800 Hrriiex § Hiex g1d ¥ |
() 4 #HX (@) 6 HX
(M 8 HiR (M 5 TR
3T H o Sret € |
(®) 3 (@) 4
(M 6 (7)) 8

Choose the correct options:-

1.

How many hours are there in a day?

(@ 12 by 24

(c) 36 (d) 18

How many grams are there in 2 kilograms.
(@) 2000 gram (b) 1000 gram

(c) 3000 gram (d) 200 gram

How many meters are there in 800
centimeters.

(@) 4 meters (b) 6 meters

(c) 8 meters (d) 5 meters

4. Arectangle has sides.

(@ 3 b) 4
() 6 d 8
6. U au - 4

Complete the pattern:-

@ADQA .......... N

(b) I ___,l‘+___ .......... R
(

c) 25,35,45, ... R
(d) 105,205,305, .......... R

7. 1,2,3,4,5, 6 ! G&AT &I Mol H 39 TE fo@r & &
A § foret Sl &1 SIS 12 S| 2

Write the numbers 1, 2, 3, 4, 5, 6 in the circles so
that the sum of the numbers on each side of the
figure is 12.
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8. Tk HREM H T&F &7 270 Fesl 1 T T 123 wew

(1) = | s & et firemrant fobe arear a2 2
A factory made 270 bulbs on the first day. On the
second day it made 123 bulbs. How many bulbs
did the factory make altogether?

(il) T 998 H 6 T9 § 1 7 oAl H FoI e fohdd €4 2

STEA? 2
A box contains 6 apples. How many apples in all
will7 bosex have?

(ifi) T 329 TR 1 7 wSH! H Al T 18 ASH Al o
e el | 2
Share 329 balloons among 7 boys. How many
balloons for each boy?

(ivi) & T TRoi @ oA O 9 B e F e ¥ 4

HE = uftera Frqufeera
i & T T
[ 27 25 2
Il 23 22 1
1] 24 21 3
\Y] 22 18 4
\Y 25 23 2
Ayl

(%) 39 @hd | Fa fohad o= &7

(@) fora e | Tufeerd =il shi T Ted ST 87
(1) e e H STUfked sl Sl TEN WO HH §?
() 39 A § FA b o= Iufeerd 872

Read the table carefully and answer the following

questions:-
Class No. of No. of No. of
Children Children Children
[ 27 25 2
Il 23 22 1
11l 24 21 3
Y] 22 18 4
Vv 25 23 2
Total

(@) How many children are there in the school?

(b) The class with the highest number of absent
studentsis ............

(c) The class with the least number of absent
studentsis ............

(d) How many children are present in this school?

9! i fop == feamen e ® SHeh fede 9§ ek # 17 wW; 4

A B = @
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Colour the clown following the directions given
below.
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